® =EAE

I *gmwu u‘*m l: D b‘ t & ELRFRNTE

| BREEAOBAERUEME

A DR DR
(&) (BF)
| msme
219 o FREAA/IRALORS.1.1):36,030 A
209 o =HbE=E(R5.1.1):22.8% HELERFE ERV-1
61 196 o & - AOZBRE : 99kni- 364 A /ki AL20,000 ALLE
ol 178 %8 AL ol °* EFEHEAO EREE
Ok M&R80% L E
166 168 169 R2 sEIMIEH 7R H27 ‘
Izs ‘. (IR 60% %)
()
a3 g 59 35,187 A(5.2%) 33,452 A AR L 18 DRBIE AL & [EREE 151
I29 55 S \A LRI (RA.4.1):98.0 KD T35HEECHIELIEBDTH Do
70 76
120 - l Ez 7 120 |-
|7 74 38
1 33 A < M2 00.7 3] mEaREs 1537 EEIELER85.3%]  mpmewen 13/37
31
28 Ie A |9 EENMRREEZHINE CHADEAVVERTEE HBESOEE(LOEGVVERT IBIE
54 q 20 (%)
60 - Eg E1 IB 23 6ol | 15 16 8 1.30 700 o
s 110 75.0 - :
35 35 8 ¥’ 090 | 80.0 | 81.3
51 53 54 55 58
l l l 070 |- 8501 868 oo goo  sas gg_g
18 19 20 20 20 ' .
0 o j ‘ l ‘ ‘ ‘ 0.50 - 90.0 - 87.9 897 88.7
H30 RO1 RO2 RO3 RO4 H30 RO1 RO2 RO3 RO4 030 - 95.0 -
Wns [zt | @este s 1 zof Wire Wsem | o eangs 1 zofm 010 L1 } } } } 1000 i } } } } 99
H30 RO1 R02 R0O3 R0O4 H30 RO1 R02 R0O3 R04
ERESDHR WS ERES DR RENEELEID.T%] SUEGRIEL 17/37  EREIELLEE[-%] FE IR 1/37
(F9) (&F9) S EDEREEDAETTOESFVVERT IEBIE EREEINEEBEOREETDESVVERTIEEF
60 59 200 - LA, %) %) 0.0
50 ~ _
sl a7 45 49 !1 160 68 26.0 0.0 1 1’4 1 0‘4 1 39 6‘5 400
1 6 [ R N B B -
a6 B N | 120+ [gg 106 12 L1 112 20 4001
aaf B = = 80 2or
e = i 5.9 5.9 80.0 -
k2 F I oor ¥ W e
2r Be = 401 es5 64 Ies 66 62 - 6.5 1200 -
o = 0 | | | | 100F 106 9.6 ’
H30 RO4 H30 RO1 RO2 RO3 RO4 1aob 160.0 - 1
[ woepzes [ amze M zotwseanss W erEnEs GRRpBNEERs) [ B 180 | | | | | 2000 | | ‘ ‘ ‘ 1731
3 T T T T T . T T T T T

H30 RO1 R02 RO3 R04 H30 RO1 R02 RO3 R04



